Určete nejmenší společný násobek 
a) n(15; 25) =……………………………..
b) n(16; 24) =……………………………..

c)      n(28,30,12) =……………………………..

d) n(16; 26) =……………………………..

e)       n(25; 32) =……………………………..

f)        n( 64; 82) =……………………………..

g) n(152; 220) =……………………………..

h) n(5; 16,20) =……………………………..

i)       n(18; 32,36) =…………………………..

j)       n(55; 32) =……………………………..

Určete nejmenší společný násobek čísel:
a) n(35,75; 25) =……………………………..

b) n(64,18; 42) =……………………………..

c)        n(82,30,24) =……………………………..

d) n(12,46; 36) =……………………………..

e)       n(25,32; 23) =……………………………..

